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Financial Support 

•Supporting budget deficits for 
COVID-19 District Action Team 
to reach out to communities 
with information awareness, 
meetings with local leaders and 
communities, WASH Training 
and Hygiene Education, 
Community Infrastructure 
development for improved 
water, sanitation and health 
practices. 

• Financial support to cover 
transport, operational and 
subsistence costs of District 
Action Team members 
deployed to the communities. 

Material Support 

• Printed awareness raising 
materials on COVID-19, fuel for 
outreach visits to communities 
and materials on preventive 
measures for communities. 

•PPE for District Action Teams 
to distribute to relevant 
institutions in the frontline of 
COVID-19 awareness raising 
and in rural health clinics and 
any other materials for 
enhancing safety of health 
workers and other staff 
involved in COVID-19 at local 
level. 

Technical, and Capacity 
Building Support  

• Partnership with the District 
Action Team to ensure 
adequate training of DAT 
members in community 
outreach and awareness 
raising on COVID-19, risk 
mapping and assessments, 
community preparedness 
planning training and capacity 
building, resilience, monitoring 
effectiveness of COVID-19 
responses at the community 
level, and partnerships with 
other agencies for improved 
community responses. 
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